Children’s Allowances and Income-Tested Supplements:
Costs and Redistributive Effects

IN THE CONTINUING discussion of poverty
in the United States it is regularly noted, first,
that children constitute a sizable proportion of
the poor—about 40 percent, according to the 1967
count—and, second, that the existing public as-
sistance programs are not designed to meet the
needs of the majority of poor children. Any
expansion of the present income-maintenance
system would probably provide some assistance
to children, but, it is argued, a program con-
centrated on children has advantages over other
types of programs. It is said, for example, that
children’s allowances represent an investment in
the future and can be effective in breaking the
poverty cycle.

Some proposed plans would pay allowances
to all children and thereby avoid the need for
a means test; they thus might provide a cohesive
element—unlike other programs that more clearly
separate groups on the basis of need. Another
commonly expressed position is that a children’s
allowance program already exists in the United
States in the form of the exemption granted for
children under the income-tax law but that the
gystem is inequitable since it pays the largest
benefit to those who need it least and nothing at
all to those who need it most. The tax saving for
families in the highest tax bracket, for example,
amounts to $420--70 percent of the flat $600 ex-
emption—but there is no tax saving for those with
no taxable income.

This article presents an analysis of the costs,
financing, and effects on the distribution of income
for four plans that would make money payments
to children or to families with children. The
major characteristics of the four plans selected
for analysis here are summarized in the table in
the next column.

* Division of Economic and Long-Range Studies, Office
of Research and Statistics. The article is adapted from
a paper given by the author at the Sixty-second Annual
Jonference on Taxation, sponsored by the National Tax
Association in Boston, Massachusetts, September 29-
October 3, 1969.
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Status of
Tax on allowance children’s Amount of allowance
‘ exemptions

Plan Al __| Atincome-taxrates_ | Retained _____ $120 per child per year.
Plan B2__ | Atincome-taxrates_.; Eliminated__._| $120 per child per year.
Plan C? .| Special tax_____ _{ Retained____._ $500 per year each for

first 2 family mem-

bers, $300 for each

additional member.
PlanI> ¢ | Specialtax_._ ... .. Eliminated____{ Per child per year:

| 1st, $1,400

2d, $900

3d, $600

4th and subsequent,

$400.

t Children’s allowance plan proposed by James C. Vadakin in Children,
Poverty, and Family Allowances, Basic Books, Inc., 1968.

2 Alternative proposal for children’s allowances by James C. Vadakin (see
footnote 1).

# Income-tested supplement for families with children.

1 Children’s allowance plan proposed by Harvey Brazer in ‘“The Federal
Individual Income Tax and the Poor: Where Do We Go From Here?”
California Law Review, April 1969.

The arguments just cited in support of pro-
grams concentrated on children have apparently
been given different weights in the design of the
four plans. Plan A pays an allowance to all
children and does not disturb the existing system
of tax exemptions for children. Plan B pays
allowances to all children and concerns itself with
the equity argument by advocating the elimination
of tax exemptions for children. Plan C limits
payments to families below a stipulated income
level, thereby emphasizing the objective of break-
ing the poverty eycle; it does not concern itself
with the arguments about the merits of a uni-
versal system or the equity of the present income-
tax system. Plan D also makes significant net
payments only to families with income below
specified amounts.

The amount of the benefit ranges from a rather
modest $120 per year for each child under Plans
A and B to much more substantial amounts under
Plans ¢ and D. All the plans incorporate a
method of taxing the benefit that reduces the net
amount of the payment as family income rises.
Plan A and Plan B add the allowance to taxable
income, and Plan C and Plan D employ a special
tax with high marginal rates. The amount of the .
payment is reduced much more gradually under
Plans A and B than under Plans C and D.



TaBLE 1.—Components of cost for children’s allowance and
income-tested supplement proposals, 1967

{In billions]

Item Plan A [ PlanB | PlanC | Plan D

Grossallowance. ... .. ..____ $8.4 . $8.4 $8.2 $69.3

Recoupment from: ' :
Allowance tax__..___._.__ __! 1.4 1.6 4.0 54.3
Elimination of exemptions. ;. - 7.5 ' ,,,,,, 7.5
Allowance less recoupment._ . .. 7.1 —.6 4.2 7.5
Less AFDC._ .. . . ! L. 1.7 2.1
Net new henefits__ 7.1 | —.6 26 . 5.5

| i

Because the four plans differ so markedly with
respect to size of allowance, manner of taxing the
allowance, and treatment of the tax exemption,
aggregate costs vary widely—from no net cost
to more than $7 billion, as of 1967. Moreover,
the patterns of change in disposable income that
would result from introduction of the plans would
not. be the same. Some groups of families would
be more favorably treated by one plan than by
another. For each of the plans, the cost and
effects on the income distribution are analyzed
here. The data presented show the changes in dis-
posable income that would result from introduc-
tion of the plans for families grouped by number
of children and by income. The data show which
groups of families would experience income gains
and which income losses under each type of plan.
The main characteristics of the plans are then
summarized and compared, especially with respect
to their overall effect on the distribution of in-
come.

PLAN A—ALLOWANCES TAXED AS INCOME,
EXEMPTION RETAINED

Under ’lan A, all children under age 18 would
receive an allowance of $10 a month. All children
would be eligible, regardless of the income status
of their families. The allowance would be supple-
mented by payments under aid to families with
dependent. children (AFDC) and other assistance
programs and would be considered taxable under
the Internal Revenue Code. Tax exemptions for
children would be continued.

An annual allowance of $120 per child, paid
to the 70 million children under age 18 in the
population as of 1967, would have cost $8.4 billion,
On the basis of 1967 population and income data,
it is estimated that taxing the allowance under
the present income-tax rate structure would have
provided about $1.4 billion in revenue and resulted
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in a net cost of $7.1 billion (table 1). Under this
plan, the net cost would be financed from general
tax revenues of the Federal Government.

When the tax on the allowance is taken into
account, the value of the allowance declines with
the income level of the family. Table 2 shows the
amount of allowance, after tax, that families of
differing size and income level would receive,
given the 1967 level and distribution of income
and the present income-tax structure.!

Families with one child would receive an annual
allowance after tax of $98, on the average, and
those with total money income less than $3,000—
who have little or no taxable income—would re-
cetve $114. Those with total money income of
$10,000-$15,000, who pay marginal tax rates of
19-22 percent, would receive $95. At a given
income level, families with larger numbers of
children would receive amounts approximately
proportional to the number of children in the
family. Thus, families with less than $3,000 in
income and three children would receive $360, on
the average.

Plan A may be viewed as a way of changing
the tax subsidy for a child. The present subsidy—
that is, the value of the $600 exemption—Iincreases
from zero for families with little or no income
to $420 per child for families with income subject
to the 70-percent marginal tax rate. The value of
the $120 allowance declines with income level from
$120 per child to $36 per child. Thus the total tax
subsidy for a child would range from $120 when
taxable income is zero to $456 when it 1s very
Iarge. To put it another way, the total tax sub-
sidy under this proposal is equivalent to exempt-
ing $1,337 of income from tax for those in the
14-percent. marginal tax bracket and exempting
$651 of income for those in the 70-percent bracket.
The uniform exemption of $600 per child is, in
effect, being supplemented by an exemption that
vanishes in part as income rises.

The figures in table 2 represent increases in
income that families with children would experi-

1 For purposes of this article, families and unrelated
individuals are grouped in the tables by the amount of
their total money income in 1967, as reported in the
March 1968 Current Population Survey by the Bureau
of the Census. Total money income includes wages and
salaries, income from self-employment, dividends, inter-
est, public and private pensions, public assistance pay-
ments, and other periodic payments received by the
family.
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TaBLE 2.—Average amount of allowance less tax for families and unrelated individuals under Plan A and Plan C, by total money

income in 1967

Families having specified number of

) tamrﬁ(i)etglan d related children under age 18 Fl?gnégﬁsd‘r”e%h
Total money income unrelated - ; and unrelated
individuals 1 l 5 ‘ 3 ‘ ¢ |sormore| individuals
Plan A

Alanits oo ... $112 $98 l $196 $296 $402
Under $3,000 55 114 235 360 480
$3,000-4,999_ . i05 i01 204 314 440
5, ,099. .. 127 100 200 302 405
7,000-9,999_________. 143 97 194 204 396
10,000-14,999 138 95 192 287 384
15,000-24,999 119 90 180 269 359
25,000 ormore_ ... .. . __..__.____..____. , 90 71 141 212 286

ence from the allowance less tax but do not take
into account the decreases in income that would
result from financing the program. In this analy-
sis 1t is assumed that the revenue needed to finance
the programs would be raised by a surtax on
Federal personal and corporate income-tax lia-
bility. The $7.1 billion cost of Plan A would have
required a surtax of 7.4 percent in 1967,

The surtax would affect the disposable income
of families and unrelated individuals in several
ways. The surtax on personal income-tax liability,
which would yield about two-thirds of the amount
needed, would increase the income taxes and thus
lower the disposable income of all families and
unrelated individuals with taxable income.

The surtax on corporate income-tax liability
would lower corporate profits after tax and hence
lower dividend income and retained corporate
profits. It is usually assumed in analyses of this
type, however, that such a surtax would lead to
higher prices for goods and services and that
corporate profits after tax would thus not decline
by the full amount of the surtax. As in earlier
studies,? it is assumed that the surtax on corporate

2 See Benjamin Bridges, Jr., “Current Redistribution
Effects of Old-Age Income Assurance Programs,” Old-Agce
Income Assurance. Part II: The Aged Population and
Retirement Income Programs (Joint Economic Com-
mittee Print, 90th Cong., 1st sess.), December 1967,
pages 95-176, and the references therein.
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income-tax liability would result in price increases
sufficient to raise corporate profits before tax by
one-third of the amount of the surtax. Thus cor-
porate profits after tax would decline by two-
thirds of the amount of the surtax.

Price increases affect disposable income by
lowering the real value of consumption. All fami-
lies and unrelated individuals would therefore
experience some decline in real disposable income,
with the decline measured by a tax on their con-
sumption expenditures sufficient to raise one-third
of the corporate surtax. The decline in corporate
profits after tax would result in decreases in
dividend income and in retained corporate profits
and thus lower the disposable income of all fami-
lies and unrelated individuals receiving such
income. The combined amount of the tax on per-
sonal income-tax liability, on consumption, and
on dividends is shown in table 4 for all families
and unrelated individuals. The tax on retained
profits is not reflected in the figures in table 4
because the income data from the Bureau of the
(lensus do not include a measure of retained
profits.

Deducting the average surtax shown in table
4 from the average amount of allowance less tax
(table 2) yields an approximation of the overall
change in disposable income for families and
unrelated individuals that would result from the
introduction of Plan A. These figures are shown
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TABLE 3.—Average amount of allowance less tax and less value of exemption for families and unrelated individuals under Plan B

and Plan D, by total money income in 1967

Families having specified number of o :
) fam’%‘l(i)etgzn a related children under age 18 Ff’llénc‘%]‘flsdxlrtlh
Total money income unrelated and unrelated
individuals 1 2 3 4 5 0r more individuoals
Plan B
Allunits ..o oo ... —$10 —$16 —$34 —$43 —$31 $54 | ..
Under $3,000_ ... ... ... 46 71 178 315 431
$3,000-4,999 .. ____ 28 4 12 37 126
5,000-6909_ . _______ - —2 -9 —-11 —10 -3
7,000-9,999_______ —22 —18 —35 —47 —57
10,000-14,999______. —42 —32 —61 —88 —118
15,000-24,999_ .. ________ —83 —63 —122 —188 —254
25,000 or more______ R —226 —176 —352 —527 —685
Plan D
Aluanits ... ... ... $87 $163 $176 $151 $189
Under $3,000. 265 790 1,315 1,623 1,993
$3,0004,999_ 367 621 985 1,164 1,202
5,000-6,999 181. 249 372 384 427
7,000-9,999_ _ I —66 ~20 —72 —146 —221
10,000-14,999___ .. R —105 ~56 —133 —223 —327
15,000-24,999_______________ . ... —134 ~82 —186 —308 —440
25,000 ormore_.________ . __ —252 —176 —378 —594 —806

in table 5 by size of total money income for vari-
ous groups of families and individuals. Table 6
relates this dollar change in disposable income
to the amount of disposable income before intro-
duction of the program (table 7).

Under Plan A, most families with children
would experience an increase in disposable income
even after the surtax is taken into account (see
tables 5 and 8). To put it another way, the pro-
gram would be paid for largely by families with
no children and by single persons.

The change in disposable income for families
in the lowest income bracket (under $3,000),
where the amount of the surtax is small, differs
little from the allowance less tax, and the increase
is roughly proportional to the number of children.
Thus disposable income rises by 6 percent for
one-child families, 13 percent for two-child fami-
lies, 19 percent for three-child families, and so
on—as table 6 shows. At a given level of total
money ‘income, however, the surtax declines with
increase in family size (table 4). Hence, at higher
levels of income where the surtax becomes sub-
stantial, the increase in disposable income per
child is larger for large families than for small
families. Families with income of $5,000-$7,000
and with one child would receive, for example,
an income increase of $49, but the increase would
be 156 ($78 per child) for families with two
children, $263 ($88 per child) for those with

three children, and $373 ($94 per child) for those
with four children.

PLAN B—ALLOWANCES TAXED AS INCOME,
EXEMPTION ELIMINATED

In his study of children’s allowances, James C.
Vadakin noted three alternatives to his proposal
to consider the allowance as taxable income and
retain the children’s exemptions. Under these
three alternative approaches to the relation be-
tween a children’s allowance program and the
existing income-tax structure, the allowance could
have been:

(1) excluded from taxable income, with present
exenmptions for children retained;

(2) excluded from taxable income, with exemptions
reduced or eliminated ; or

(3) made subject to taxation, with exemptions
eliminated.

He concluded that the plan “which has been
chosen is considered preferable in terms of the
socio-economic effects which it would produce, its

costs, and its political feasibility.”™

As shown in the discussion of Plan A, the
choice of taxing the allowance and retaining the
exemptions would result in a tax subsidy that
increases with income level from $120 per child

3 James (. Vadakin, Children, Poverty, and Family
Allowances, Basic Books, Inc., 1968, pages 188-89,
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TABLE 4.—Average amount of surtax paid by families and unrelated individuals under four plans, by total money income in 1967

Families having specified number of s :
. t‘am}‘l(i)g:land related children under age 18 F:;nciﬁielsdgxéh
Total money income “unrelated and unrelated
individuals 1 2 3 4 5 or more individuals
Plan A
ANlunits_ . ..ol L. $95 $111 $110 $104 $90 $74 $87
Under $3,000_ .. .. el 6 6 5 4 4 4 6
$3,0004,998_ .. .. __.______.______. 26 27 22 17 11 8 30
5,000-6,990. . .. .. . ... 50 50 “ 39 32 21 59
7,000-9,999_ 80 81 73 68 60 50 92
10,000--14,999 135 133 125 117 111 100 153
15,000-24,999. _ . 278 266 262 247 240 227 307
25,000 or more 935 851 855 834 784 1,009 1,032
Plan B
—$8 —$10 —$10 —$10 ~$10 —$9 —§7
-1 —1 -1 -1 -1 -1 O]
-2 —3 -3 -3 -3 -3 -2
-5 -5 -5 -5 =5 =5 -5
-7 -7 -7 -7 -8 —8 -7
—12 —-11 —12 —-12 —-12 —12 —12
—24 -22 —23 —~23 -23 —24 -25
—~78 -7 —73 —-73 -70 —-92 —85
PlanC
Allunits_ .. $35 $41 $40 $37 $31 $25 $33
Under $3,000. . . el 2 1 1 2 2 1 2
,000-4,909. _ 9 9 6 4 3 3 11
5,000-6,999__ 18 18 15 13 10 5 22
7,000-9,999___ 29 30 26 24 20 16 34
10,000-14,999 49 49 45 42 39 34 57
15,000-24,999_ 102 98 90 86 80 114
25,000 or more 347 316 316 307 287 368 384
Plan D
$75 $87 $91 $91 $83 $78 $64
5 7 6 5 5 4 5
22 24 25 25 22 19 22
42 42 41 42 41 40 43
65 65 64 65 64 64 67
106 103 102 102 102 103 112
212 201 205 201 202 203 225
698 633 647 642 615 803 754

I Less than $0.50.

for families with little or no taxable income to
$456 per child for families with income subject
to the 70-percent marginal tax rate.

The first alternative would also result in a tax
subsidy, increasing with income level from $120
per child to $540 per child over the same income
range. Neither Plan A nor this first alternative
would therefore satisty those who argue that the
tax subsidy to upper-income families should not
exceed the subsidy to lower-income families.*

+ For a discussion of the rationale for children’s exemp-
tions under the income tax, including a discussion of the
position that the size of exemptions should increase with
income level, see Harold M. Groves, Federal Taxz Treat-
ment of the Family, The Brookings Institution, 1963, and
Richard Goode, The Individual Income Tax, The Brook-
ings Institution, 1964.
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The third alternative would satisfy that argu-
ment, however. Data for this type of program
have been prepared and are discussed here and
included in the tables as Plan B. (A plan paying
an allowance of $120 to each child with no tax on
the allowance and retention of 80 percent of the
exemption would be exactly equivalent to Plan A.
In general, any plan with an allowance of $600
a year or less that retains the exemption and taxes
the allowance may be alternatively stated as a
plan that retains part of the exemption and does
not tax the allowance. Hence, the second alterna-
tive does not seem to be a real one.)

Under Plan B-—the modified form of Plan A—
the gross cost of the allowance would be the same
as the cost under Plan A. Elimination of chil-



TABLE 5.—Average amount of change in disposable income for families and unrelated individuals under four plans, by total

money income in 1967

Families having specified number of - 5
!am’fl?et:ém d related children under age 18 F:;ncl}llasdzﬁh
Total money income unrelated and unrelated
individuals ' 2 3 1 +  lsormore| individuals
Plan A
$17 —$13 $87 $192 $313 $540 —$87
49 108 231 356 475 725 —6
8 74 181 297 429 708 =30
78 49 156 263 373 606 —59
83 16 121 226 335 528 —92
3 -37 87 170 273 454 —153
-159 —176 —83 22 120 280 -307
—845 —780 —-714 —622 —408 -592 -1,032
Plan B
Allunits. oo .. —-$2 —$7 —$24 —$33 —$21 $63 $7
Under $3,000. ... ..o e 47 72 179 316 431 680 O]
$3 999____ .. 30 7 15 40 129 384 2
2 —4 —8 -5 2 42 5
—15 —11 —28 —40 —49 —55 7
-30 —-20 —49 —76 —106 —141 12
—59 —40 —99 —166 —231 —344 25
—147 —105 —279 —454 —615 —995 85
Plan C
ANl anits oo el $6 $7 $12 $38 $96 $318 —$33
Under $3,000_ ... i 127 426 573 714 929 1,490 -2
3,000-4,999 . 75 18 90 231 421 819 —11
5,000-6,999__. - -9 —18 —15 —13 -10 195 —-22
7,000-9,999__ -29 —30 —26 —24 —-20 —16 —34
10,000-14,999_ —49 —49 —45 —42 -39 —34 —57
15,000-24,999__. —102 —98 —96 —80 —86 —-80 -114
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, —347 -316 —316 —-307 —287 —368 —384
Plan D
$13 $77 $86 $61 $106 $322 —$64
260 784 1,300 1,619 1,088 2,764 =5
345 596 960 1,139 1,181 1,493 -22
139 207 330 342 386 477 —43
—132 —84 -136 —210 —285 —~413 —67
~211 —159 —235 —325 —429 —580 —112
—346 —283 —391 —508 —642 —864 -225
049 —809 -1,024 —1,235 —1,421 —2,089 —754

1 Less than $0.50.

dren’s exemptions would, however, increase tax
revenues by $7.5 billion. This amount, combined
with the revenue from the allowance tax of $1.6
billion would result in a tax recovery of $9.1
billion.” The net effect of this program, therefore,
would be to increase tax revenues by somewhat
more than its cost (table 1).

When the tax on the allowance and the value
of the exemption loss are taken into account, more
than half the families with children would experi-
ence a decline in income as a result of the pro-
gram, as tables 3 and 8 show. The value of the

5 The aggregate amount of tax on the allowance under
the modified plan is slightly larger than that under Plan
A because loss of exemption increases taxable income
and hence increases marginal tax rates.

exemption begins to exceed the amount of the
allowance less tax for families with incomes as
low as $3,500. Families with one child in the
$5,000-$7,000 income range would pay $107 more
in income taxes, on the average, because of the
$600 exemption loss and would pay $22 allowance
tax. The result would be a decline of $9 in dis-
posable income.

The larger family is heavily benefited by the
present tax exemption. Such families in the
middle- and upper-income range would therefore
experience greater declines in disposable income
than smaller families if exemptions were elimi-
nated.

The overall change in disposable income, shown
in table 5, incorporates an income-tax reduction of

SOCIAL SECURITY



TaBLE 6.—Percentage change in income after federal income tax liability for families and unrelated individuals under four plans,

by total money income in 1967

Families having specified number of . .
) fmn’fl?et:la.n a related children under age 18 Fg;nélﬁﬁdxgh
Total money income _unrelated and unrelated
individuals 1 2 3 4 5 or more individuals
Plan A
0.2 -0.2 1.0 2.1 3.6 6.6 —1.4
3.1 6.2 13.0 10.2 25.1 39.4 —.4
2.1 2.0 4.7 7.4 10.8 17.6 —.8
1.4 .9 2.8 4.6 6.4 10.3 -1.1
.8 .2 1.6 2.9 4.3 6.6 -1.2
—.3 .6 1.6 2.5 4.0 ~1.4
—.9 -1.0 -.5 .1 7 1.6 —~1.8
—2.6 —2.4 —-2.2 —1.9 -1.5 —1.6 —-3.2
Plan B
All units —0.1 —0.3 ~0.4 —0.2 0.8 0.1
Under $3,000 3.0 4.1 10.1 17.0 22.8 37.0 Q]
$3,000-4,999________ .8 2 4 1.0 3.2 $.6 1
5,000-6,999_______.__ -.1 -.1 -.1 ) .7 .1
7,000-9,999________. —.2 —-.1 —.4 —.5 —.6 -7 .1
10,000-14,999___ -.3 —-.2 —~.5 -7 -1.0 -1.3 .1
15,000-24,999__ _ -.3 —-.2 —.6 —-1.0 -1.3 -2.0 .1
25,000 or more_ —.5 —-.3 -.9 ~1.4 -1.9 -2.7 .3
Plan C
0.1 0.1 0.1 0.4 1.1 3.9 -0.5
8.0 24.3 32.3 38.5 49.1 81.0 —-.1
2.0 .5 2.3 5.8 10.6 20.4 -.3
—.2 -.3 —.3 -.2 —.2 3.3 —.4
—.4 —.4 —.3 -.3 -.3 -.2 ~.5
-.5 —.5 —.4 —.4 -.4 -.3 —.5
—-.6 —.6 —-.6 -.5 —-.5 —-.5 -.7
~1.1 —1.0 ~1.0 —.9 —-.9 -1.0 —1.2
Plan D
0.2 0.9 1.0 0.7 1.2 3.9 -1.1
16.3 4.8 73.7 87.3 105.1 150.3 —.3
9.2 15.8 24.7 28.5 20.7 37.2 ~.6
2.5 3.8 5.9 6.0 6.7 8.1 -—.8
-1.7 —-1.1 ~1.8 —-2.7 —3.6 -5.1 —-.9
—2.0 -1.5 —2.2 -3.0 —-3.9 -5.3 -11
- - . —-2.0 -1.7 —-2.3 —2.9 -3.7 —~4.9 -1.3
25,000 or more___._ e e —2.9 -2.5 —3.2 —-3.8 —~4.4 —=5.7 —-2.3

1 Less than 0.05 percent.

$600 million under procedures similar to those
outlined for the tax increase—that is, income-tax
liabilities were reduced in proportion to existing
liabilities and price decreases were assumed to
account for one-third of the reduction in corporate
tax liability. The reduction in taxes does not
change the general conclusion that families with
children and with incomes of $7,000 or more
would experience declines in income as a result of

Plan B.

PLAN C—INCOME-TESTED SUPPLEMENT

All families with children and with income be-
low a stipulated amount would be eligible for

BULLETIN, FEBRUARY 1970

benefits under an income-tested supplement pro-
gram such as the Administration-sponsored
family assistance plan. A program of this general
character is considered here as Plan C.

Under Plan C the payments would be $500 a
year for the first two members of a family and
$300 for each additional member. The benefits
would not be considered taxable income under
the Internal Revenue Code, and children’s exemp-
tions would be continued. As the family’s earn-
ings increased, the benefit would be reduced, how-
ever. Families could earn as much as $720 a year
without loss of benefits, but above that amount
the benefit would be reduced 50 cents for every $1
of earnings until it reached zero. Thus, families
with one adult and one child and with earnings

9



TABLE 7.—Average income after federal income tax liability—families and unrelated individuals by total money income in 1967

Families having specified number of - :
) fam?l(i)::}m d related children under age 18 F:;“g:ﬁ%xﬁh
Total money income _unrelated —{ and unrelated
individuals 1 2 3 ] 4 5 or more individuals

Allunits. o el $7,248 $8,443 $8,851 $9,013 $8,692 $8,174 $6,028
Under 83,000 . .. i 1,592 1,750 1,776 1,854 1,891 1,839 1,545
,000~4,999 ... 3,742 3,761 3,886 4,000 3,975 4,015 3,655
5,000-6,909_ ... 5,503 5,502 5,620 5,738 5,784 5,879 5,351
7,000-9,999__ 7,568 7,560 7,652 7,791 7,872 8,030 7,366
10,000~14,990 10,706 10,670 10,736 10,791 11,039 11,210 10,572
15,000--24,999_ _ 16,938 16,914 17,084 17,230 17,377 17,619 16,693
25,000 or more 32,558 31,970 32,391 32,745 32,271 36,948 32,449

less than $2,720 would receive some benefit, and
families with two adults and four children and
with earnings below $5,120 would also receive
some benefit.

To prepare the estimates for this plan, several
assumptions were made:

(1) The payment to husband-wife families with no
outside income was taken as $1,000 plus $300 for
each child under age 18 (with no payment to other
family members such as children aged 18 or older
and still living at home). In other types of families,
the benefit was taken as $1,000 for a family with one
child under age 18, $1,300 for a family with two
children, and so on.

(2) Families receiving AFDC payments—about 1.2
million—were distributed among family-size and in-
come groups in a manner consistent with late 1967
information on the number of children in families
and with an aggregate cost of $2.2 billion in 1967.
In making the estimates it was assumed that fami-
lies receiving AFDC payments that were smaller
than those they would receive under Plan C would
get an increase in disposable income amounting to
the difference between their benefit under Plan C
and their AFDC payment. Families with AFDC
payments larger than those they would be eligible for
under Plan C would experience no change in dis-
posable income. To avoid a decline in income for
these families, Plan C payments would have to be
supplemented.

(3) Families not receiving AFDC payments were
assumed to have the Plan C benefits provided under
the rule given in (1) above, and the benefit was
reduced on the basis of the family’'s total money
income for 1967, as reported in the March 1968
Current Population Survey. The estimates incor-
porate the assumption that families retain the first
$720 of annual income with no reduction in benefit
and that the benefit is reduced 50 cents for every
$1 of income in excess of $720. Thus a family could
receive $720 a year in social security benefits or other
unearned income without loss of benefits.

(4) Income-tax liability is forgiven in such a way
that the marginal tax rate does not exceed 50 percent
for families receiving the income-tested supplement
and for families with income slightly above the level
at which the supplement reaches zero (the break-
even level).
Under the

income-tax structure in existence in

1967, families who are eligible for an income-tested
supplement may also be liable for income tax. The
result is that the marginal tax rate may exceed 50
percent because the family loses 50 cents in benefit
for every $1 of earnings and also pays 14 cents in
income tax out of each $1 of earnings. For such
families the estimates presented here assume that
income taxes are completely forgiven. For families
with income slightly above the break-even level, the
estimates assume partial forgiveness of income-tax
liability.5-

On the basis of these assumptions and 1967
population and income data, the aggregate cost
of the income-tested supplements under Plan C
is estimated to be about $2.6 billion. The cost
to the Federal Government is slightly higher
than $2.6 billion because of some shift in welfare
costs from State and local governments. For both
Plan C and Plan D, where there is a similar
problem, the cost of new benefits, rather than the
cost to the Federal Government, was assumed to
be financed by the surtax on Federal personal and
corporate income-tax liability. A preferable pro-
cedure would have involved financing the cost to
the Federal Government in this manner with
some offset from forgiveness of State and local
taxes.

Benefits under Plan C would be concentrated
on families with incomes less than $3,000, though
larger families with somewhat higher incomes
would also receive sizable supplements (table 2).
With the surtax taken into account, families with
one child and less than $3,000 in income would
receive a 24-percent increase in disposable income,
on the average; those with three children, a 39-
percent increase; and those with five or more
children, an 81-percent increase (table 6).

All families without children, all single persons,
and most middle- and upper-income families with

6 For a discussion of this problem, see James Tobin,
Joseph Pechman, and Peter Mieskowski, “Is a Negative
Income Practical?’ Yale Law Journal, November 1967.
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TaBLE 8.—Families and unrelated individuals by total money income in 1967

Families having specified number of . :
. fam}‘l(i)é:lan d related children under age 18 Fgglé{:ielsdmﬁh
Total money income “unrelated and unrelated
individuals 1 9 3 ‘ 4 5ormore| individuals

Number (inthousands).__ . ... 62,948 9,154 8,756 5,453 2,984 2,671 33,930
Percent.. ... ... 100.0 100.0 100.0 100.0 100.0 100.0 100.0
21.7 10.3 7.2 7.3 8.3 11.9 32.8
13.8 11.5 10.2 9.6 11.2 15.9 16.1
15.4 16.6 16.7 17.2 18.5 16.9 14.0
20.8 25.2 28.2 27.9 27.5 25.8 15.7
18.4 24.0 25.3 25.4 22.7 20.4 13.5
7.8 10.0 9.8 10.1 9.6 7.2 6.3
2.0 2.4 2.6 2.6 2.1 1.9 1.7
Number of children (in thousands)___________________________._ ... 70,119 9,154 17,512 16,359 11,936 15,597 .. ___

children would experience declines in disposable
income as a result of the program. On the aver-
age, the declines would be small in relation to
income—1 percent or less of disposable income—
but for particular families, especially high-income
families, the percentage decline would be larger.

Omne more child would add $300 to the family’s
benefit when income was very low. At somewhat
higher incomes, however, the large family could
receive more than a small family does for an
additional child. This difference occurs because
the benefit reaches zero at a lower income level
for the small family than for the large one. For
example, husband-wife families with one child
would not receive any net benefit if their income
was $3,320 or larger; families with two children
would continue to receive benefits until their in-
come was $3,920 or larger; and those with three
children would get their benefits until income was
$4,520 or larger. Thus at income of $3,720, the
family with one child would receive zero benefit ;
the family with two children, $100; and the family
with three children, $400. To put it another way,
the increment for the second child would be $100
and for the third child $300. Table 2 shows this
effect for families with income of $3,000-$5,000:
For families with one child the average benefit is
$28; for two-child families, it is $97 ($48 per
child) ; for three-child families, $234 ($78 per
child) ; and for four-child families, $424 ($106
per child).

PLAN D-—ALLOWANCES SPECIALLY TAXED

Under Plan D, an annual allowance would be
paid to all children under age 18, as follows:
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First child, $1,400; second child, $900; third
child, $600; fourth and subsequent children $400.
The allowance would not be taxable income but
would be subject to a special children’s allowance
tax. Children’s exemptions under the regular
income tax would be eliminated. The program
would replace AFDC, though it is assumed that
no assistance recipient would experience a decline
in income as a result of the introduction of the
program.

The special tax would reduce the allowance as
the family’s income increased, but all families
would receive an allowance after tax of at least
5-percent of the gross allowance. The special tax
as a percentage of the allowance would increase
with income, up to 95 percent at about $8,000,
and is the same for families of all sizes. The
rate at which the allowance would be reduced for
every $1 of income would first increase and then
decrease with income level and, for a given income
level, increase with the number -of children in the
family. For example, the $1,400 allowance for
the married taxpayer with one child would be
reduced 15 cents for every $1 of income less than
$2,000, 19 cents for the next $4,000 in income, and
13.5 cents for the next $2,000, until the allowance
after tax reached $70 at an income of $8,000. The
$2,900 allowance received by a married taxpayer
with three children would be reduced by 32 cents,
40 cents, and 25.7 cents, respectively, for every $1
of income throughout these ranges, until the al-
lowance was reduced to $145 at income of $8,000.

The estimated gross cost of paying the allow-
ance to the 70 million children counted in 1967
is $69.3 billion (table 1). On the basis of 1967
population and income data, it is estimated that
revenue from the special children’s allowance tax
would have amounted to $54.3 billion and revenue
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from eliminating the exemptions would have been
$7.5 billion. Because it is assumed that the plan
would replace the AFDC program, which was
costing slightly more than $2 billion in 1967, the
net amount of the new benefits under Plan D
would have amounted to about $5.5 billion in
1967.7 The cost to the Federal Government would
have been somewhat higher because of the shift
in AFDC cost from the States. As noted in the
discussion of Plan C—the income-tested supple-
ment program—the net cost of new benefits was
assumed to be financed by the surtax on Federal
personal and corporate income-tax liability.

When the allowance tax and the exemption
loss are taken into account, families with children
and with income less than $7,000 would receive
an increase in disposable income as a result of
Plan D (table 3). The value of the exemption
begins to exceed the allowance less tax at income
around $7,000, so that most families with children
and with income of $7,000 or more would experi-
ence declines in disposable income as a result of
the program. As noted for Plan B—the program
with allowances taxable as income and the exemp-
tions eliminated—the exemption loss means especi-
ally large income declines for larger families in
the middle- and upper-income range who are
heavily benefited by the present exemption.

Data on the overall change in disposable in-
come after the surtax is taken into account are
given in tables 5 and 6. Families with children
and with less than $3,000 in income would receive
substantial increases in income: 45 percent for
the one-child family, 87 percent for the three-
child family, and 150 percent for the family with
five or more children. Middle-and upper-income
families with children would experience declines
in income ranging from 2 percent to 6 percent, on
the average; for those without children, the de-
clines would average 1-2 percent.

The benefit schedule under Plan I would pro-
vide for a declining allowance per child: $1,400
for the first child and $900 for the second. The

" See Harvey Brazer, “The Federal Individual Income
Tax and the IPoor: Where Do We Go From Here?" (Cali-
fornia Law Review, April 1969), who estimates that the
cost of this program would have been $7.6 billion on the
basis of 1966 income and population data. The $2 billion
difference between 1966 and 1967 in the estimate of cost
results largely from an increase in the estimate of the
children’s allowance tax—from $52.1 billion in 1966 to
$54.3 billion in 1967.
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benefit per child for large families is thus smaller
than that for small families when the family’s
income is very low. Moreover, the special tax that
reduces the allowance by the same percentage for
all family sizes, at a given income level, assures
that the benefits per child are smaller for the
large family throughout the income scale.

Because the value of the children’s exemption
is approximately proportional to the number of
children above the lowest income levels, the net
effect of this type of plan is to remove a subsidy
that is proportional to the number of children in
the family and to replace it with a subsidy less
than proportional to that number.

SUMMARY COMPARISON OF THE FOUR PLANS

Plan A would pay the smallest allowance per
child and have the largest cost. It would result
in modest income increases for most families with
children. At middle- and upper-income levels,
larger families would receive somewhat larger
increases per child than would smaller families.

Plan D would pay the largest allowance per
child and ranks second in terms of cost. The
special allowance tax that reduces the allowance
at high marginal rates as income rises and the
elimination of exemptions keep the cost low in
comparison with Plan A.

Plan D would result in substantial income
increases for the roughly one-half of the families
with children and with income less than $7,000.
The allowance schedule and the method of taxing
the allowance assure that the overall increase in
disposable income per child would be smaller for
large families than for small, at a given income
level. About one-half of the families with chil-
dren would experience declines in income through
this type of plan, and the declines would be Iarger
for large families than for small, at a given in-
come level.

Plan C—the income-tested supplement pro-
gram—ranks second in terms of size of allowance
and third in terms of total cost. Although there
is no tax recovery from elimination of exemptions,
the cost of Plan C is less than that of Plan D
because the allowance is less and because as in-
come rises above $720 the allowance is generally
reduced at a higher marginal rate under Plan C
than under Plan D.
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Under Plan (%, most families with children
and with income less than $3,000 and many with
income as high as $5,000-86,000 would receive
benefits. The allowance schedule adds $300 for
each child at low income levels, but as income
rises the net benefit per child for the large family
exceeds that for the small family. Families with
children and with income of $7,000 or more would
experience declines in disposable income, with the
largest declines for the smaller families.

Plan B, providing allowances taxable as in-
come and eliminating exemptions, would increase
tax revenue about $600 million more than its
gross cost. Families with children and with in-
come less than $5,000 would receive modest in-
creases in income, but families above that income
level would experience some decline. The income
decreases are largest for families with several
children.

On the basis of the data presented thus far,
it is clear that all four plans would rvedistribute
imcome from upper to lower income units and
hence would move the distribution of income
toward a greater equality. To provide some in-
dication of how much of a shift wounld occur and
how the plans compare i this respect, the group
data on disposable inconie before and after intro-
duction of the plans have been used to estimate
Lorenz curves that show how large a share of
aggregate income is received by any given per-
centage of families with the smallest incomes.
Such a measure is widely used as an indicator of
the degree of equality in the distribution of in-
come and as a way of comparing distributions
for different times and places. It is used here
to compare the actual distribution of disposable
income in 1967 and the four hypothetical dis-
tributions that would have resulted if these pro-
grams had been mtroduced.

Column 1 of table 9 shows the estimated dis-
tribution of aggregate disposable income in 1967.
According to this estimate, the 10 percent of
families and unrelated individuals with the
lowest income received 1.3 percent of aggregate
disposable income, the 20 percent with the lowest
incomes received +.1 percent of the aggregate,
and so on.

Columns 2 through 5 show the distributions
that would have resulted from introduction of
the four plans discussed here. Plan ) would have
effected the greatest movement toward equal dis-
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TaBLE 9.—Cumulative distribution of aggregate disposable
Income by income tenths, 1967: comparison of actual distri-
bution with four hvpothetical distributions

{In percent|

Families and unrelated ]}efore' After children’s benefit program

individuals ranked by Cl;)lelﬂéeﬁlé §l— e ; :

size of disposable income program | Plan A } Plan B : Plan C | Plan D

| ,ﬁﬁi‘, S PR S,

Lowest 10 percent.___ . __. 1.3 1.4 1.4 1.4 1.4
Lowest 20 percent__ .. 4.1 4.2 4.2 4.4 4.5
Lowest 30 percent.___ . 8.7 8.8 8.8 9.1 9.6
Lowest 40 percent_ . 15.0 15.2 | 15.1 15.4 16.4
Lowest 50 percent_______. 22.8 23.2 { 23.0 23.3 24.5
Lowest 60 percent_._ . _ 32.2 32.6 | 32.4 32.7 33.8
Lowest 70 percent____. = _ 43.3 43.7 ¢ 43.5 43.7 44.6
Lowest 80 percent_ k 56.4 56.9 56.7 56.7 57.5
Lowest 90 percent___. i 72.3 72.8 72.4 72.6 73.0

tribution of income. (Generally speaking, as the
distribution of income becomes more equal, the
share of income received by units with the small-
est incomes moves closer to the proportion of
units in that elass.) Plan D increases the share
of the lowest 10 percent from 1.3 to 1.4 percent,
the lowest 20 percent from +.1 to 4.5 percent, the
lowest 30 percent from 8.7 to 9.6 percent, and so
on.

When similar methods are used to evaluate
the other plans, Plan B is found to result in
the least movement toward equality. Plan C in
comparison with Plan A shows larger shares
for the lowest 60 percent and by a summary
measure of the Lorenz curve such as the Gini
coeflicient would undoubtedly show a greater
movement toward equality than Plan A does.
Thus, though all four plans would result in some
movement toward a more equal distribution of
income, the general shape of the distribution
is little changed, even by the plan with the
greatest effect—Plan D.

TECHNICAL NOTE

The population of families and unrelated indi-
viduals was divided into the following groups:

Male head, wife present with—
One child
Two children
Three children
Four children
Five or more children
Other male head or female head with—
One child
Two children
Three children
Four children
IFive or more children

13



Male head, wife present, no children—
Head under age 65
Head aged 65 or over

All other families

Unrelated individuals under age 65
Unrelated individuals aged 65 or over

Information on the distribution of units in
these groups by total money income was available
from data published by the Burean of the Census,
in “Income in 1967 of Families in the United
States,” Current Population Reports (Series P-60,
No. 59, 1969) and from special tabluations that
were ineluded in the Current Population Survey
for March 1968.

Within each of these 15 groups estimates of
income subject to Federal individual income tax
and of tax liability were prepared for units in
each total money income class. All income was
considered subject to tax except the public as-
sistance payments received by AFDC families
and an estimate of tax-exempt income received
by units with head aged 65 years or over. Tax-
able income was derived from total money income
by using the minimum standard deduction for
units at low income levels and by assuming that
deductions amounted to a percentage of total
money income at higher income levels-——15 per-
cent for married taxpayers, 13 percent for head
of household returns (groups 6-10 and 13), and
17 percent for single persons. These percentages
were based on the relation between deductions
and adjusted gross income shown by the 1966
Statistics of [ncome of the Internal Revenue
Service. Except for the open-end classes, all
units in each total money-income class were
assumed to have income equal to the midpoint of
the class. A figure of $750 was used for units
with less than $1,000 income; $100,000 for units
with income of $50,000 or more and head aged
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65 years or more; and $72,000 for other units
with income of $50,000 or more.

The estimates of taxable income and of tax
liability served as the basis for estimating the
allowance tax under Plans A and B, the value of
dependents’ exemptions, and the surtax on per-
sonal income-tax liability. The allowance tax
under Plan (! and Plan I was estimated on the
basis of total money income. Distributive series
on consumption expenditures and on dividend
income needed for the estimates of surtax on
corporate Income-tax liability were developed
from the Survey of Consumer Expenditures,
1960-61, conducted by the Department of Agri-
enlture and the Department of Labor, and from
the 1966 Statisties of Income.

Total money income reported in the Current
Population Survey aggregates to less than the
comparable total in the National Income and
Product Accounts of the Department of Com-
merce—about $520 billion on the method used
here, compared with about $565 billion for the
national accounts. This is the usual result in
comparing ncome aggregates based on cross-
section data with other aggregates, and it is
usually asswmed that the “missing” income is
concentrated in the upper-income brackets. Be-
ause of the understatement of income and be-
ause total money income does not include capi-
tal gains—an important source for upper-income
units—the estimates of taxable income and of tax
hability for upper-income families may be too
low. On the other hand, the estimates of tax
liability totaled $64 billion, compared with $63
billion in income tax after credits shown by the
preliminary 1967 Statistics of Income. Hence the
suggestion is that the estimates of tax liability
for units in the lower-and-middle-income range
may be too high.
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